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Srno. Question Subject Actual Answer Answer Given Correct/Incorrect
. Vitamin C
1 chr\_/y IS caused duetothe Sci-7-wtl Vitamin B Incorrect
deficiency of:
Reversible change
The change which can be g
2 brought back to original form Sci-7-wtl Reversible change Correct
are called:
) ) Wet clothesto dry
3 Which of the following Sci-7-wtl clothes Wet clothes to dry clothes Correct
changes can be reversed?
Physical change
When ice melts into water, Y g
4 what types of changes do you Sci-7-wtl Physical change Correct
observe?
) . Boiling of water
5 Which of thefoll_owmg Isan Sci-7-witl Ripening of fruit Incorrect
example of physical change?
Carbohydrates
6 Starchisakind of : Sci-7-wtl ¥ Carbohydrates Correct
Nutrients
The food components needed . .
7 by our body are called: Sci-7-wtl Nutrients Correct
About of the human 0%
- 7. 0,
8 body weight contains water. Sai-7-wil 0% Correct
Mineral
Which of the following nerels
9 nutrients is provided by Sci-7-wtl Minerals Correct
vegetable?
. . . . Moisture and Air
10 Rusting of iron requires: Sci-7-witl Heat Incorrect
Painting of i icl Air and water do
11 anungotiron aticles Sci-7-wtl ~ |notcomeincontact | Paintsisareducing agent Incorrect
prevents the rusting because: of surface
) I Burning of fuel
12 Whlc.h of the following isa Sci-7-wtl Breaking of abrick Incorrect
chemical change?
The di d b Anaemia
13 © cliSeases caused by Sci-7-wtl Anaemia Correct
deficiency of ironis:
. . . Vitamin A
14 | Night blindnessis cauised due Sci-7-wtl Vitamin D Incorrect
to the deficiency of:
The changes that require Siow change
15 e changes requl r.e ong Sci-7-wtl Slow change Correct
time to occur are called:




The metal rim expands and

On heating

16 fits into the whe!: Sci-7-wtl On heating Correct
) . Butter, cheese and
17 Which of the following food Sci-7-wtl oil Buitter, cheese and oil Correct
componentsisrich in fats?
L Water
helps to maintain
18 a constant body temperature Sci-7-wtl Water Correct
in our body.
Deficien
Diseases that occur dueto <
19 lack of nutrients over along Sci-7-wtl Scurvy Incorrect
period are called
All of the above
Which of the following food
20 products are the best sources Sci-7-wtl Milk Incorrect
of animals proteins?
Rolled the dough to
Paheli mixed flour and water. meke chpeti
Consider the statements and .
21 choose which can be reversed Sci-7-wtl Made a dough Incorrect
change?
Which f the following i Carbohydrates and
2 Ich oneof thetollowing IS Sci-7-wtl fats Carbohydrates and fats Correct
an energy giving component?
_ _ . Both physical and | Both physical and chemical
23 Burning of acandleis: Sci-7-wtl chemical changes Py changes Correct
Calcium and
Dody fo bring bones and Phosphors
24 teeth. Therefore we should Sci-7-wtl Calcium and phosphorus Correct
take:
. il for formi Iron
25 —Isessentia for forming Sci-7-wtl Iron Correct

haemoglobin in the blood.




